
 
Solve for natural numbers: 

∑∑|𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝟏

𝒙

𝒊=𝟏

= 𝟑𝟑𝟑𝟑𝟎𝟎 

Proposed by Daniel Sitaru – Romania  

Solution 1 by Ravi Prakash-New Delhi-India 

For 𝟏 ≤ 𝒊 ≤ 𝒙, 

∑|𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝟏

=∑|𝒊 − 𝒌|

𝒊

𝒌=𝟏

+ ∑ |𝒌− 𝒊|

𝟏𝟎𝟎

𝒌=𝒊+𝟏

=∑𝒌

𝒊−𝟏

𝒌=𝟏

+ ∑ 𝒌

𝟏𝟎𝟎−𝒊

𝒌=𝟏

= 

=
𝟏

𝟐
(𝒊 − 𝟏)𝒊 +

𝟏

𝟐
(𝟏𝟎𝟎 − 𝒊)(𝟏𝟎𝟏 − 𝒊) =

𝟏

𝟐
[𝒊𝟐 − 𝒊 + (𝟏𝟎𝟎)(𝟏𝟎𝟏) − 𝟐𝟎𝟏𝒊 + 𝒊𝟐] = 

= 𝒊𝟐 − 𝟏𝟎𝟏𝒊 + 𝟓𝟎𝟓𝟎 ⇒∑∑|𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝟏

𝒙

𝒊=𝟏

 

=
𝟏

𝟔
𝒙(𝒙 + 𝟏)(𝟐𝒙 + 𝟏) −

𝟏𝟎𝟏𝒙(𝒙 + 𝟏)

𝟐
+ 𝟓𝟎𝟓𝟎𝒙 

𝟏

𝟔
𝒙(𝒙 + 𝟏)(𝟐𝒙 + 𝟏) −

𝟏

𝟐
(𝟏𝟎𝟏)𝒙(𝒙 + 𝟏) + 𝟓𝟎𝟓𝟎𝒙 = 𝟑𝟑𝟑𝟑𝟎𝟎 

⇒ 𝟐𝒙𝟑 + 𝟑𝒙𝟐 + 𝒙 − 𝟑𝟎𝟑𝒙𝟐 − 𝟑𝟎𝟑𝒙 + 𝟑𝟎𝟑𝟎𝟎𝒙 = 𝟏𝟗𝟗𝟗𝟖𝟎𝟎 

⇒ 𝟐𝒙𝟑 − 𝟑𝟎𝟎𝒙𝟐 + 𝟐𝟗𝟗𝟗𝟖𝒙 − 𝟏𝟗𝟗𝟗𝟖𝟎𝟎 = 𝟎 

⇒ 𝒙𝟐(𝒙 − 𝟏𝟎𝟎) − 𝟓𝟎𝒙(𝒙 − 𝟏𝟎𝟎) + 𝟗𝟗𝟗𝟗(𝒙 − 𝟏𝟎𝟎) = 𝟎 

⇒ (𝒙 − 𝟏𝟎𝟎)(𝒙𝟐 − 𝟓𝟎𝒙 + 𝟗𝟗𝟗𝟗) = 𝟎 ⇒ (𝒙 − 𝟏𝟎𝟎)[(𝒙 − 𝟐𝟓)𝟐 + 𝟗𝟑𝟕𝟒] = 𝟎 ⇒ 𝒙 = 𝟏𝟎𝟎 

 

Solution 2 by Hikmat Mammadov-Azerbaijan 

∑|𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝟏

=∑|𝒊 − 𝒌|

𝒊

𝒌=𝟏

+ ∑ |𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝒊+𝟏

=∑|𝒊 − 𝒌|

𝒊

𝒌=𝟏

+ ∑ |𝒌 − 𝒊|

𝟏𝟎𝟎

𝒌=𝒊+𝟏

 

=
(𝒊 − 𝟏) ⋅ 𝒊

𝟐
+
(𝟏𝟎𝟎 − 𝒊) ⋅ (𝟏𝟎𝟏 − 𝒊)

𝟐
=
𝟐𝒊𝟐 + 𝟏𝟎𝟏𝟎𝟎 − 𝟐𝟎𝟐𝒊

𝟐
= 𝒊𝟐 − 𝟏𝟎𝟏𝒊 + 𝟓𝟎𝟓𝟎 

∑∑ =

𝟏𝟎𝟎

𝒌=𝟏

∑(𝒊𝟐 − 𝟏𝟎𝟏𝒊 + 𝟓𝟎𝟓𝟎)

𝒙

𝒊=𝟏

𝒙

𝒊=𝟏

=
𝒙 ⋅ (𝒙 + 𝟏) ⋅ (𝟐𝒙 + 𝟏)

𝟔
−
𝟏𝟎𝟏𝒙 ⋅ (𝒙 + 𝟏)

𝟐
+ 𝟓𝟎𝟓𝟎𝒙 = 



 

=
𝒙 ⋅ (𝒙𝟐 − 𝟏𝟓𝟎𝒙 + 𝟏𝟒𝟗𝟗𝟗)

𝟑
= 𝟑𝟑𝟑𝟑𝟎𝟎 ⇒ 𝒙 = 𝟏𝟎𝟎 

∑∑|𝒊 − 𝒌|

𝟏𝟎𝟎

𝒌=𝟏

𝒙

𝒊=𝟏

= 𝟑𝟑𝟑𝟑𝟎𝟎 ⇒ 𝒙 = 𝟏𝟎𝟎 


